@ Superb Sensor

DPG-1

Pressure Gauge

1 Power supply voltage 12~24VDC -
I Accuracy 1 1.0% F.S(at 20°C) | SR
I Ambient Temp range 0 ~ 70 °C ‘ '
1 Zero temperature effect + 0.2 F.S/°C

1 Output temperature effect = 0.2 F.S/°C
1 Operating pressure MAX. 10KPa = (a] 53]
I Burst pressure MAX. 15KPa
I Sensor input 4~20mA or 1~5V

I Process connection : 6J hose (inside size5 @)
1 Mounting bracket

O Pressure Range

Order code

( For Pressure range) Pressure Range LED Display
100 0~100Pa 0~100
200 0~200Pa 0~200
300 0~300Pa 0~300
500 0~500Pa 0~500
750 0~750Pa 0~750
1000 0~1,000Pa 0~1000

% You can change to the range you want to use in the setting mode yourself.

ADPG-10A - 500 - N

NPN TRANSISTOR
PNP TRANSISTOR

Pressure Range (Unit/Pa)

maximum

Pressure range
9 value

Analog output range
1~5V
4~20mA
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http://www.smartsensorkorea.com/



